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WEST BENGAL STATE UNIVERSITY
RB:A. B:Sc. Honours PART-II} Examination, 2016

ECONOMICS-HONOURS

Paper-ECOA-V
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicare full marks. 25feE Brm g Gy oo s e we
Candidates should answer in their own waords & diay e ST T FET SEEEE
and adhere to the word limis as pracricable. Tww e
Use separate answer hooks for each group. &fefs fesmm oy JoF SGIINT AEE T
Group-A
farete-F
1. Answer any rwe questions from the following:

o (¥ 55 o B fan

{a) Iilustrate the comparative advaniage when labour is the only factor of production.

Y W GG FAVA- TS GHANEE SRureel Taizae wErais 3 W
{b) What is infant industry argument of tariff protection?
W T T P B gRED

{¢) Do you think the fixed co-efficient production function is a necessity to establish
Hecksher-Ohlin proposition?

csgra-eBm afsonwl enines 2o Fug-wos Beoma wgwmme el wiE fa) o wlicetse S
{d) What is meant by J-curve phenomenon?

3R b e T camamy
{e} What is *voluntary export restraint’™?

‘A TGN T PRS WY
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(a)

{b)

(a)

(b}

Answer any ofte questions from the following:
o e 9375 2iewe Tag e

What is meant by protected trade? Show that free trade is better than protected
trade,

TS Qo TR I e $F (1, TF Aife wegfirs aifieeTs e sRaswe

Show that the gains from international irade can be decomposed ino two
components — gains from exchange and gains from specialization. Show two
situations where the entire gain from trade is due 1o exchange and duc to
specialisation,

e (0 e it i g s 1R e e w R qire e Rl we
Teowsiaa Rodiee o wre S weg o0 aEn. @R s el 5w uy f%‘irmﬁ
#irs wepe) ay Bevw RoeSigaewie #rs:

Derive the Marshal-Lerner condition for stability of equilibrium in international
market.

TreEifes AEira e e e aiE-anie el

Answer any three questions from the following:
@@ fewfll avsa Tea e,
(1) Define and derive the offer curve of a country.

G (e e 2BR @ w7 e aie e B e wwa
(ii) What is meant by offer curve elasticity?

Tifdey g g FEfeess ot B @y
{1ii) How is import demand elasticity and export supply elasticity related to offer

curve elasticity?
@mﬁ‘m 51%wes fEfgeare ¢ agiaiz @mmse frreaer wow wiie gRi ()i
Tl oo adad wwa

(i Assumiﬂg full employment is it feasible to have a fall in capital intensity in both
the industries (X and Y) as factor capital becomes relatively costlier? Show with
the help of Edgeworth Box diagram.

ot et 15 PR (v G y) o TaeE yEe o efseeiR WA T o 7R R
tﬁﬂfr«*\y 51 2 w7y awends 73 Brae wR i e

(i1} State and prove Stolper-Samuelson’s theorem.

ol -IETHEE 2R Fn ¢ ene T

9x1 =9
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{c)

(d

e

-~
]
S

L,

(a)

(b}

304073136 :

Show that, under standard H-O framework, a physically relatively capual-rich
country having usual production bias towards production of the capital-intensive
good. may not always be in a situation of comparative advantage in capital-
intensive good. In this connection, show that ‘identical and homothetic demand’ is
a necessary condition to-prove H-O Theorem with the physical definition of factor
abundance.

QIR (% (TFR- G WA, BARTS ST | S TP s Wy o
wysfrrer geeR WA wree e wrm RfT U] WIS (BB A GEAES Hay
(1 TR WS SR 9B SH (AN (U, TARAS AR el GRadl (-t vt
erare wETs WaEd ¢ et siiEw gl i 2

{1} Show that, devaluation of Nominal exchange rate may not always indicate real
depreciation.

g 1, e i e wayses wdw age ki zigs wegeEme o wg A
(i) What are the merits and demerits of fixed and flexible exchange rates?
o7 < RS Ry 2ram sk ¢ sRa B Ry

{1) What do you mean by internal and external balance of an economy?

s (AT SRR weradiv ¢ YRR e & @A

(i) Explain how internal and external balance may simultaneously attained with the
help of Swan-diagram.
@3 w7z weredia ¢ ARGy RrerR WS oS AiIa 1 ‘G Braw wE AN e

Group-B
e«
Answer any three questions from the following:
(1 @W w7 ez Teg e
Distinguish between unit tax and advalorem tax.
Tesivin v Rfew sz 6 F fda gree g N6y Rdee sy
Explain with examples the difference between direct tax and indirect tax.

TRiRs REENE AT @ RT3 W 2 T wea

L3

5+(5+5)

649

4x3 =12
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{¢)

(a)

-
i
=~

(c)

(d)

What would be the tax structure when tax function is of the following form

T=1+Y where T & Y are total tax and income respectively and t is any possuve
constant.

o~

o T =t/ 50 a7 wreriies oin 33 ITNDe egfe wrana 3% T aR Y e

il 2 € TS (AR GR U U GANS 991

What do you mean by ‘excess burden’ of taxation?

ATy e @Rl (SR e fa anaEy

What are the advantages of income tax over expenditure tax?

Qa4 SEAR Qs R & [y

Answer any rwo questions from the following:
@ @w 7 fF ama Ter e
Critically explain *The ability to pay’ approach to taxation.

T R S ARSI A @

) Compare the effect of a proportional income tax and equal vield progressive

income tax on work effort of a typical worker.
@it WY SORER merae Ter o Aeelies T SEEE ¢ AR UR oHEIR
eperFEie) SRS AY AT WIS 4 |

Compare the effects of a unit tax with those of an equal vield advalorem tax on
equilibrium price and output under situation of perfect competition and monopoly.

opfefornirel ¢ QTN FHRIER (ST SR ST Beoteis A ¢ T ¢ B
s Tofa 73R wamTEe wor TRy R Beea- g fefls wrae warme gree
GG B

Write short notes from the following:
Sa FaeeBr Toe sy B oy

(i) Benefit approach to taxation.

%3 AT THEEEY |

(i1) Balanced Budget Multiplier.
95Fe = AMHG @I

14x2 =
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WEST BENGAL STATE UNIVERSITY
B.AB:Sc. Honours PART-III Examination, 2016

EcoNoMICS-HONOURS
Paper-EcoA-VI
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. Candidates showld answer in their own words
andd adhere to the word limit as practicable.

Group-A

fen-=
1. Answer any six questions within 150 words each. 4x6 =24
el @-cotw g7 eves Tea fa)
What are the various types of credit that rural people in India need?

SRS AN TR & & gqree 4 e @y sy

-

(@

(b) What are the main findings relating to the returns to scale in Indian
agriculture?

TR Pfire wmsTeite afenm weord ofrrmae & Ry
(¢) What are the problems in measuring the extent of unemployment in India?
SRS (7T AR oRee e By

(d) How can the ratio of direct taxes to gross domestic product be increased in
India?

CI1G ST BeAMTara SRt fE3irg erers Faa Speire [ & S e wEay

3041 1 Turn Over
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{e) Do you think that adoption of modern technology in Indian agriculture has
enhanced interregional inequality?
wwifel & e e SrEe 3fTe Ty FUFHET e sEaeE (T
FLARY

() Mention some of the impacts of globalization on export performance of the
indian economy.

Do you agree with the view that Indian plans are good in paper but are rarely
good in implementation?
Tl 7 W wEw @ RS el e eeeTar gee weiaa fre
(R o wifde eprEaRy
(h) Discuss briefly the problems of non-performing assets in Indian
Nationalized Banks.
CACEA BE GF FZT ST Fooaa TP SO S o+ |

A~
)

(i) Mention some of the shortcomings of ‘disinvestment’ programme ol the
public sector units in India.

srred AETE FaeRve s el Aifes st @ Sray s
(1) Explain the concept of “inclusive growth’.

HEGEF Fiaq 4 1Y FEA

GRUP-B
ey
Answer any nwo of the following questions: 8x2=16
@-@W 75 avea Teg e
2. Discuss the significant structural changes that have taken place in the Indian
economy during the plan period.
TRET SRS ARFTARIA @ 9Tl IRCATS e ahrg ¢
FROBL QDA SEA

3]
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Enumerate the major causes of monopoly and concentration of economic
power in Indian industries.

wEEn Fes adAfes WO GFEHIFI ¢ FHSIE Bleaafs fge w1

Analyse the major changes in the Indian tax structure since 1991.

Sabd HAF (A0F SRS FAFTSCNT A4 AfFadaefs wesa a5

Critically evaluate the eXport—import policies of the government of India
since huly 1991. '

GROUP-C
fastat-at
Answer any four of the following questions: 13x4 =60
Do you agree with the view that land reform is a necessary condition for 15

agricultural development in LDCs? Discuss your views in the light of new
agricultural strategy applied in Indian agriculture.

e & W w0 weEe et 9 wER PR SEuea ol Sepie i e
I $FATe WpTe T A e e Rl wEna w1

.\';\

What do you mean by *food security’? How far Govérnment intervention in 3+12
tood grains market will ensure food security in India?

< S A @iy SReS wWWEWW%M"{W %1
! SfAS Ty

Turn Gver
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9.

3041

Do you think that the history of development of Indian industries since 1950
is that of growth.as well as stagnation? How far has the opening of the
economy singe 1991 affected performance of the industries?

sl & S A (@ dseo AE Q0T SO firs Saye 3y wmE 3% ¢
FomEn TG seps FE (WF SESY TN TE AR el Mg
wasfera feen aeiRe aramy

Discuss the achievements and failures of the monetary policy of the Reserve
Bank of India. Explain the implication of the RBI's autonomy in its conduct
of monetary policy.

wrEed Rers qirsa sifds Nfex T ¢ gdor gz S T | sk
TS st R Ea F- e el i Fwa)

Describe India’s BOP position in recent times. Discuss the impact of the
new economic policy on the country’s BOP position.

e F0ER SANSd IR Gyred weEfS 3 T SRTen R Tyred
G o7 wRes TieT oor WEsA 75

Make an appraisal of India’s financial sector reforms in the post-
liberalisation period.

TwEEee-Teg guo SRy S CRaE REFE T T |

1O+5

69
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| WEST BENGAL STATE UNIVERSITY
B.A. B.Sc. Honours PART-1IT Examination, 2016

EconoMiCs-HONOURS
Paper-EC0A-VI1

Time Allotted: 4 Hours Full Marks: 100

, X s __ e
w flgares in the margia indicate fuil marks. 2V ?‘ T R FoAnTs w e faree

Candidates should govwer in thely owir words HEPEEISTEY [ SYWT v HET N
asid cdhere 1o the word limit as practicabie. S wfarew
Use separate answer books for each half. 275 Rensm gy o9E Taaeia ez s%,
Group-A
{Marks:50]
i Answer any fhree questions from the following: 4x3 = 12

- foafE erss Beg e

{a) Show that if X and Y are two indﬁpendent random variable, then

e, AR e Y ?*W‘@“WW IS Var (X+1) = Var (X-1).

(hy What are the differences between “statistic” and ‘parameter’?

B ¢ At snde e &y

[f two events A and B are independent, then show that 4% and B are also
independent.
T 4 = B RIEE BT 2, TIEE (I (F 4° 93 B R 46 A

v

(¢

{d) Define type-1 and type-I errors.
[-azrea w1 @ []-«ares =ifs S e

3042 I Turn Over
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(e} The height (X) of men in a population are normally distributed with standard
deviation 2.5, Calculate the confidence interval and test the hypmhws that
population mean is 69 when sample mean is 67 and sample size 1s 100,

S TS »EEEa Thel (Y) TreiRsi e ue e Qg s e R e
9 &R WA FRAT S0 TE TR NG b TEUR ST TOIEIE €4 (596 5T
7o et e

(f) For a binomial distribution, the mean and S.D are respectively 4 and V3.
Calculate the probability of getting a non-zero value from this distribution.
faom foraore vz s ¢ s Ryifs 2@t 4 qa V31 ok faream owrg
=TT O3 S 21 e T Fw

2

Answer any one questions :
(R 910 eirad ek e
{a) (i) Explain Maximum likelthood method.
(i) If the variances of Independent and Unbiased estimators 7, T, T of
( parameter @ are in the ratio 2:3:5, which of the following estimators of
parameter & would you prefer most?
QT+ T4, (12T T4, (T T+ 2T5)/4
(1R wEifs v #alet ar F
(11) JRIRGR 62 5l =8 ¢ IRRET ARTermnz 7y, 7o, 7 94 vl
2:3:5 ST YA A oA o FEReRE W @I%ﬁ ﬁaﬁw @A
G FACIAY
QT+t T4 (T 2T T4, (T +T+2T5)4
(b) 4 and B play for a prize of Rs. 99. The prize is to be won by a player who
first throws a ‘3” with one dice. 4 first throws if he fails B throws and if he
fails. A4 again throws and so on. Find their respective expectations.
o Bl @QC‘? T 4 9 BE) @B S (T IS 2N e (T,
B 2ET TS TR 2T 4 el e B o T = ugeE w, e B
%Mm%mwzﬁ‘ B ST 28 O3 AaE A feirwst 30d, 97 S (4
BEIE QU | BIWE LTSI 2rey] fojef eeet

-]
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5+ (b

()

ENN
b

Answer any nwo questions from the following:
@M 75 2rsa Ter

(1} Prove that for any two independent random variables X'and ¥,
E(XY)y= E(X). E(Y)
g a1, 7 X @k ¥ 7T AEHE T 5 20 ST

E(XYV=E(X).E(Y)
(i1} What is the difference between SRSWR and SRSWOR?
SRSWR 47 SRSWOR a6 {7 e g aea)

SWA TFER @A, Var (X + bY) = @ Var(X) + b*Var(Y) + 2ab Cov(X, )
{1) Show that mean and variance are equal in the *Poisson distribution’.

(i1} A bag contains 5 white and § red balls. Two drawings of 3 balls each are
made such that
(a) the balls are replaced before the second trail, and
(b} the balls are not replaced before the second trail.
Find the probability in each case that first drawing will give 3 white balls
and 2™ give 3 red balls.
(R (Y, 2T IR 51T 6 CEWE TN | @9 AfETE ¢ B ek v T &
7w Trs | 2 o  F07 wAE 3 OE W @ (3) HERAR (SR At wiaie
AW FA T, 6 (%) TeSaE coEE st el smecae o znafel
g 29 o b 3 g2 i o wiE 3 o e Ral iy )
(1) Define “Confidence interval” and “level of significance”. What is “power
of a test™
“Confidence interval™ @ “level of significance™ @@ &l f@#11 “power of a
test” TS & @AY
(il) Suppose that a random sample of size 10 is drawn from a normal
population has mean 40 and SD 12. Find 99% confidence interval for
population mean. {5005 =3.25 for 9 d.f]
FERE TARA (T do 9033 RFE g wuwe ayn woy w9 @ IYER S
80 6 WS [T O3 . WA SMTE 82 % [79.00s =3.25 for 9 d.1) e Twa)

(PN
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(d)

4. (a)

{c)

3042

(1) Using Moment Generating function, find out Mean and Variance of
Normal Distribution.
el BT TLPPHE LT IR AR TR G g (owuE (W )

(1) If x;, x,...x, 1s a random sample from an infinite population with sample
mean ¥ and variance o°. Show that -LZ(,\", ~¥)*is a biased estimator of o,
i)

but the bias becomes negligible for large n.
Yoy Xou..X, 9D THN ANACE WW R B B R S A T o1 ARG @
-7 9 Yo sfFmae = = Z(\* -7), fom e “Ram g 3w W

188 W qT Y

Group-B
[Marks:50]

Answer any three questions from the following:
e @-cm Bl arir Teg e

If the MR function for output g is given by
6
MR = - - 5 show that the demand functionis p = ———~ 5.
{g+2) (q+2)
6 3 .
W MR =~ 5, g TRAWGE T T L (S p= —— — 5. T
(g+2) (g+2)
5IfE7 S(orFS A
Given the utility function w=w-aw , a>0, consider the domain
1 . o
0<w< b and explain whether consumer is risk averter or not.
o
ke == e 2 s 1
7 TorEe SerEE W u=w-aw’, a>0%, W& 0<w<—

2a

(EIsWD RAsw FA (I (S 9 @i oW & ) g
Obtain dual of the following LPP
Maximise z =2x, +3x,
Subjectto  x, +3x, <12

2x,+x,26

x +5x, =10 and x,,x, 20

4
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{(d)

{c)

(H

A0

firae veafe e it tae T suw s
Maximise z=2x +3x,
Subjectto  x, +3x, <12

2x 4%, 26

55f5 72 (AFTTS TG W) A9 (W (U (@ Minimax = Maximin
Check whether the following input output matrix satisfies Hawkins-Simon
conditions
f0.1 025 04
4=101 05 09
(02 04 0

[0.1 025 0.4]

4=101 05 09
!_().2 04 0|

Using Cramers® rule, find out the equilibrium value of y and r from the
following Keynesian model

C=0.84
1=102-0.2r
M?=025y-2.5r; M =100

BrfrRie @3S WUE (A TN ST FRC y 4% €3 SRRy W R

M =025y =2.5r 0 M =100

Turn
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{a

(b)

S

Answerany one question from the following:
-1 Gl 2neg Teg faw)
Consider the following 2x2 game
Player B
2 5]
Player 4
7 3]

Determine the optimal mixed strategy for the players and also find the value
of the game.

fofefRe g < osfB R sea
Player B
2 5]

Player 4

3)
G ST S fr-@m (el e oo s e wea

Demand and Supply functions for tea are given by

;’ .
x, w120 2p+ 5 df i kg per week and
. ;]

L j
dp "
X, = i3 230+ 50-= - -+ kg per week; where ‘p’ is the price at time ‘2. If the
initial price is Rs. 36 per kg, find the time path of price.

5147 5IFWT € (SN SorRea FNRaa e 26 gImT,

X, = JLPO “3 L (of& s Wz«

s{?p ------ 30”0&} =& g T p’ € IS AN ¢ T 7Y

‘m\ frﬁ% JMCN?I* w5 36 B o o w e Wl wwE-vieg TR’ R




Sr4 RES RAFRS AR A& TRE A ST EAVWERST ALV WAFERF SESAENW RV

~,

(4)

Ex

Answer any fwo questions from the following: 15%2 = 30
- 75 e T ey
(i) Find the time-path of price ( p, ) in the market where price determined by 8+7

the level of inventory, from the following information-

Q! =120-0.5p,, O =30+ 03p,, p,..=p, —020; - Yand p, = 200.

Q =120-05p,, O’ =30+03p,, p.,=p, -020 - Q,’I)aﬁ?f'{ Py =200

(1) Find out the equilibrium price and quantity in a competitive market from
given demand and supply functions.

g =1200-6p,and ¢’ =2p, . Examine the stability of the market.
3t eiferaifirel e Areitaa bifea € it Fiemef

g’ =1200--6p, g =2p T E SEER] wN ¢ ofawE GO TN g
ABLER S FErel 7o o

(1) Set up the Samuelson model of the Multiplier-Accelerator Interaction and 6+9
find the second order ditference equation.

2o G7¢] ©Y e-2fes e FEeia o3 osh TrrEiie swa o faars

#SIeaeifs Sorgier e

(11} Discuss the nature of interaction time path in Samuelsson Multiplier

Accelerator Interaction Model when acceleration coefficient is 2 and

marginal propensity to consume is 0.5,

AT (el GITS) 0.¢ G G FREE { H AT SIF-GHR TIS-

2fEUS W TCFR SFF 708 7257 T @ 4R SWFS] a1

(i) Why is a constani sum game also a zero sum game? 2+5+8
G 4T ST (3N (& <IR] (oI (57N ABY

(it} Set up a 2 person zero-sum game of your choice where each player has
three pure strategies, such that there is equilibrium in pure strategies. Locate
the equilibrium strategies and value of the game.
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(d)
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AR Aew wel @l 1R i, «w @oma (R (o s TR A0S Aree
rEricea oal o Rus (e 9 g olire Res S 9iis ) SiEs
@ FE W Rl swa)

(iii) Using dominance rule solve the following game

Player B
17 3 4
Player415 6 4 5
17 2 0 3
AT QIR LICASIR MIT (RTANG (9707 Fgl T2+
Player B
73 41
PlayerA4|> 6 4 5,
17 2 0 3J

(i) Set up and explain a “diet problem” as a standard example of a linear
programming problem.

72l @ FoRr oo i ems Swisae B W siFe Rz
wRifa W FFA

(ii) Solve the following Linear programming problem with the help of the
Simplex method-

Minimize z' =4y +8v+ 2w

Subject to %u +2v+dwz4

u+v+2wzband i, v, w>0

ey sfed MR Feve @i i TEba T Twd )
Minimize z' = 4u +8v+ 2w

Subject to ;— u+2v+dwz4

7+8
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Time Allotted: | Hours

WEST BENGAL STATE UNIVERSITY
B.A. B.Sc. Honours PART-IIT Examination, 2016

EcoNOMICS-HONOURS

Paper-ECOA-VIII

Full Marks: 25

The figures in the margin indicate full marks. eNfeF TN 547% TN 7‘7{ 7 3T [0 FCF 1
Candidates should answer in their own words AT (e SR T TS NN
and adhere to the word limit as practicable. Be7 F

3043

(a)

(b)

Answer any one question from the following:
THF @-(I G10 &eea Ted e

What factors led to the de-industrialisation of Indian
Handicrafts in the nineteenth century? Evaluate the overall
impact of commercialization of agriculture on the Indian
economy.

THfex *orE orer TIRET TewEd sRdelE & [y ersi
wifAifed Boix oo 337 AMMTCIIITACIT LI FIYY I+ |

Discuss the major features of the policy of ‘Discriminating
Protection’ followed in India between first and second world
wars. Analyse how this policy contributed to the expansion of
Indian industries.

2% ¢ oY fRegraa SIeaS! 7Y SRS WPy (TGP FKRIFA
e aaw @Rk SEDT T4 S R RPEE 1
TS e weTe Fafes [rgved %)

15x1=15

&+7

10+5

Turn Over
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2. Write short notes on any two from the following;: 5%2 =10
THR @~ 7' R Tor 1 g Bt forge:
(i) Mahalwari System

REGCRIER KA

(i1) Economic Drain Theory
Ao A oy

(1)) Home Charge
W BTt

(iv) Recommendations of Fowler Committee.

TG ST A TR

3043



